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QUESTION 1

What statement is true regarding the current time in Enterprise Networking history?
A. advent of cloud computing

B. pace of change

C. pervasive use of mobile devices

D. advent of loT

Correct Answer: B

QUESTION 2

Which component of the SD-Access fabric is responsible for communicating with networks that are external to the

fabric?

A. edge nodes

B. control plane nodes
C. intermediate nodes
D. border nodes

Correct Answer: D

QUESTION 3

Which two options help you sell Cisco ISE? (Choose two.)

A. Downplaying the value of pxGrid as compared to RESTful APIs
B. Explaining ISE support for 3rd party network devices

C. Showcasing the entire ISE feature set

D. Referring to TrustSec as being only supported on Cisco networks
E. Discussing the importance of custom profiling

Correct Answer: BC

QUESTION 4

Which two statements are true regarding Cisco ISE? (Choose two.)

Latest 500-490 Dumps | 500-490 Practice Test | 500-490 Braindumps

2/3


https://www.leads4pass.com/500-490.html
https://www.leads4pass.com/500-490.html
https://www.leads4pass.com/500-490.html

https://lwww.leads4pass.com/500-490.html

L e Eld S 4 Pa Sg 2024 Latest leads4pass 500-490 PDF and VCE dumps Download

A. The major business outcomes of ISE are enhanced user experience and secure VLAN segmentation.
B. ISE plays a critical role in SD-Access.

C. Without integration with any other product, ISE can track the actual physical location of a wireless endpoint as it
moves.

D. ISE can provide data about when a specific device connected to the network.
E. An ISE deployment requires only a Cisco ISE network access control appliance.

Correct Answer: BD

QUESTION 5

Which Cisco product supports SD-Access and specifically built to address new challenges faced by enterprises?
A. Nexus 7700 w/ Sup2E and M3 line cards

B. ISR 4221

C. Catalyst 9500

D. ASR 1000-HX

E. CSRuv virtual router

F. Catalyst 6807-XL w/Sup6T and C6800 10G line cards

Correct Answer: B
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